A

GROUP
B11# |[BHREG|BMHREG| JEfL
£ B 2 5 4 3
hig SSFE 3 2 7 | 4
B = 4 3 8 5
=4 517 1 6 3 2
EI E=IF 0 8 2 1
1x2 3X4 1X5 2X3 4x5
1X3 2X4 3X5H 1X4 2X5H




B

GROUP

Bl1# |[BHREG|BMHREG| JEfL

i1 % 3 4 7 5
;th H 1 7 4 1
NS 2 | 4| 5 | 4
TH 2 5 4 2
y ok 2 | 5|5 |3
1X2 3X4 1X5 2X3 4x5

1XxX3 2X4 3X%X5 1X4 2X5




C

GROUP
Bl+# |BFHREG|AITREG| JEfHL

1 6 2 2

0 8 0 1

2 4 9 3

4 1 8 5

3 2 6 4
1x2 3x4 1x5 2X3 4%x5
1x3 2%x4 3%x5 1x4 2%5




D

GROUP
B+# |BHREG|AMFREG| JEf

Hf E— 2 | 4|6 |3
ME X 4 1 8 | 9
8 IHY 3 4 6 4
5t AF 1 6 3 2
JIE 3 0 8 0 1
1x2 3x4 1x5 2%3 4%x5

1x3 2% 4 3x5 1%4 2%5
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